F3A

18 (%)
kB =4 E —AHY
ERSE
ﬂy =RIAV 60
:\,, 43, o 206
5
BA RSA4X 20
% RN—]y R54R 5
3, |[Eh¥E ROE 40
CeanEhyk FEY (2em) 30
R (AB 10
| ) ¥ Hhvk 15
? 21 1
7 [nEBHm 5
1 |BENE— 3
[ Y54 2
BS54 1
= (LM AHR—T 3kg 3
Y (&iE 0.2
7 |cLss 0.03
@ FEoary4 Z-DkE 0.6
| SRERA4E 30
> EH1)—L 1
z  |[E¥AEF—X 1
4 |(B—yzx 0.1
7 B 60
i
0 (LMEYYRE—V X BEAY 15
% (LM FESCHME 5
= |[EedY 25
s |AB 7
¥ [CFHA 0.3
L |[BLEVERH 1
EOEH YA 1.2
% A =F;) 0.3
(B VEISvL AR 15




F3A

48 (A) 58 () 6H (K) 78 (K) 8H (&)
#IL% Bnd —AZY | |#iusa Bmb —AZEY | |#is Bmd —A&Y | |#zsa Bmb —A&Y | |#iIa =4 E —A#Y
ERSE ERS = EES=E N EkS =
S |BEX(ER-A) 8ol |7 BBk (B 80 % BEX(EH) 700 7 [ayR/y 60| |7 BBk E®) 70
(3 L et b mal of [= [k#z Z= 10| [¥ B [eux 12
A 43, 206 e BwAAVE H AL 6 % //\\ 43 (@) 206 ® REAHFEDOE 1.5kg 17
% S FhE RgOE 10 43, 206 |, 3 ¥YBZFE 500g 0.7
= [BRE_RSA4R 20| |5 |AZ 10/ |4 LhheyoEs 10 HSF 02
=] 1 (LR Zyva—L4 5 [z [HEE_RSAR 15 [ [RESHE B 1] |z
= |ZBm 20| |4 [CMOEHF 5 TARD 20| |8, |[R—3r RFMX 10| [l (&3 0 206
¥ |®wsssr ¥1a0 13] |2l |G saLIzAl< 02| |B [(LH)SF DR 20 Ceptdhuk FAH1Y(2em) 30| |®
T |FhE RO 0| | |[HENE— 026| 2 |G EBF Hok 15| |7 |[Eh& REF 30| |V |mmenor gL msim 30
B Az 1of |f£ |BiE 08| |# [=mcalzed 5= 15| |7 |AZ 10 |B [meemnor mul misos 20
gﬁ (A) EOVAFA o] ¥ [cLss 003 @ EIR T 20 1; Ll 5| |2 [AE i
PO [CAE THRA L. B S 273 1 2'; FHLaLYA LBl o1l |4 KR 25 |5 Y545 05| |7 TARA 4
C o |[L&dw 3 |4 [E) AL 07 AZ 12| |y [HSFH 1z [x#8 1
BbgE (=88 24| |5 [RESE B 1| [n [ EEE®R 1| (& |[HE 85— 2| |= |ttt m—y— 5
7 |BE 0.36| [ |9RE—Y—X 03| | [H&Z 6| || INE (R A 2| [ [GBLEVEFT 2
E 60 E e 4 FEEMALE 50| [ |mbEE(EEs 16
® = o 206| (P [BbiE (PUEE) 32| |3 |EZU—L 1N L W T 2.5
< MR 15| [ B |55 1 | FELTLVA I BliRE 0.5
PR 20| [ [ZEvav=swr a0 [0 L o8| |~ [&E 02| |7 [s=k=r 30
: |AZ 5| |2 |pUZZ7— Avt 15 % B 60| |g [SL&D 0.02| |4
ROEM MWAWA 25 || (L) r—)a—y 5 |z | 71 50 (4,
| BEE 2| |7 |ussia=dukioses somae 5 INAEE 25| [ [432U 05| [+ BEE hyk 25
N (BEECEBRE) 1 T | AEHL 20| |5 |B=Ux 0.1 g 5
7| P—EREA) 12| |3 |[R—3> RS54Z 8l & [AZ 5| |% W SIES EEptE 10
S |Z—ELRGR) 12| |2 [Eh¥ pox 20| [# |fEhos BE 1 XAy 30| (5 [x4B 20
o 7 |centinthot Yo 30 mOEH fxim 15| |'& [2w35Y 15 = [Az 5
B [(wvrucEx 8| |7 [Az 10 A (S Sy i1} A ETRES 20
5 L&HL 10 (8 (53 (1/459R) 40| |5 |pnze—tuvsuy wmms 55 [] LoHL 5
5 [WEFTUv 60| [ [EDFF1/34Y 0.01 < |[CRLECRit 05| |7 [AhE 5
1 —~  |YSHH 1 | L&SK 2
v =] BiE 0.5 H | opiEsaoav—HyL 11 Big 0.6
~ D [SLLS 0.03 ) Bl 1
T H o |zxavyx s s 0.5 N [ S 50 EHY A 1.5
2 w7 ske 3 y ELBIVE #ih 4
_ L&KW 05 A ELEM 1
ThSh 0.5 — K 110
o—yx 0.1 -
s 110 B WEZIL—F 40
(B)Ja7ITv7I)L 28




F3A

1HA) 128040
BB I;u;/‘é\'[') [ EmE —AzY :ﬁf_‘zaguk) aR% 148 (K)
‘ _ _ = ks o s N 15 5
BE K (BT A e rrr—— EHnE - AZY | sl B&E ey B (%)
$HE =5 X BEXER = Emks & BaA — A
i ol |12 g 8ol |IC |EmExk(ES N AgY
2 |mewhor  gmL ol [ Fit-H) 80| | BBk (BR) ERaR IEBR5 &
= S |mmpvk bt gs _ N e 22 80| |2 < =
43 206 % B - e 5 g F3 2ol & REAHDHD 26| |7 ayRIk 60
e (LR EXE vl Gia < - N 43
%,g 2212 30| 4 |ABT 12 g |BA SF 15 % 43 206] | - 206
A [emuanot Ay |2 |AZ (M) BEFE Hob 65 — AR—ay R5
: ¢ 70 apT— 7 i [EeE ET (B THL ThiE - 242 10
C [EnZ gos mit ;“5);{::&5 Sl Ba% aof |+ srm oy 2 ol e 50
S DEZ Az (N— b = 7| |2 - - - 3 - N
A e~ NG 20 :LIJ: S59<ELESD ‘-; E (D FLLLE 2512 05 i fzg B 15 NS EGe 30
+ [BGEET i8] |7 [ eam o R 5 |2 [mE 3 B [Lsi !
£ e 1 o |% [ | |5 [BoLEs ol 1B Toas d B o= 10
~ L/J:5H; 3 1 B =3 0.2 z (_;:?-;;E%Ll:/v[:< 0:2 é’) E,j\d;;(nj:a*ﬁ) 3 OZ) 78t1) 3
" )y 4 iy D i = 5 =15 = = /53 1
PO 2] |2 - 08| & [mez 1 g [BBYA 5 i
2 bl 1| [ |45 5 LEE 5 |& [=HesnBL 0.01 7 (EE 0.3
; (BE 01| |& 206| (R [L&SW 3 & K 1 i 0.03
5 2 o (= 18] |1+ D (LR #BR—F Bk
10| | .. TARD h ¥E (=48 2 - W oo B 3
e C [z 10| B [—mk&SHE BB R5AR YA YA BB 06
N eyl B SPLLETE 001 |E [BE 10| [ [LedSw '
% |[xteL 2 I (ELITLAR 2l 0s| |2 BT 12 [ o
; N Ebhh . P Lz - .
;:%)é\‘%wlf/u 0 gb‘ é%i;:mbm ok 05| |4 20| |5 [ozuemr guy 3(5) E
@k wa o |0 [Ce3 05 AHBL b [ELSED Tl 20
EOEwm minA el |2 ;’L@ 3l |2 [Ee5y 25| [+ [Az 10 |7 [E03Y oy
PUBZE oy oE B 5| |[v [z 2 | [KtoL 5| L ECORE 5
oF LG PR 2 5| |; LB h—jba—
o7] |7 |mmEam 1 Z %LM“““( o 2 gﬁi | P ey 2
4 — ‘ k
B WAESHEE s 7K 20 j; ROBM AW ; jl/- ELEFL ; A e
n N T—EVE —
Cenlthvk BEY( ¥ E_%‘*E(J:E*E) 1 :/ ZS 110 Y TAANFR 15
FhE BOE 2 =il 117 (&= T
e 20 —ukESBL oo ()RR LD 50 |
LU 1(5) WYBHIFE 500g -1'2
s T . _
EHT (8)3vIRF v =
ELETL :
2 110




F3A

18H(A) 198 () 20H (7K)
kB Bnd —A&Y | |#izs Bmb —A&EY | |#zs Bmd —AHy
FXRHE FRHE FKRHE
CZ |BEXEE-A) 80 t BEXEE-H) 80 _Llﬂ BEEX(ER) 80
% Ed R |masor moELL 9
AT 206 ; 43| 206] |2 |mavnor o6 mL 6
AR 1
;FL ) & 1ol Y [EEA T o [~ [aBsT 5
OB $160 BFEAN SUF 20 4 |unErocAEGmh s 12
g |[EE 2| |4 [BESE F 3 g [WhiuEsyH2 5
o K 2 |z |whEvprE—UX 20 BT ERE 3
v [CASA 5 ERE FOE 45| = [AZ 4
¥ |[Afddm 0—Y— il7 AZ 20| |4 [DILBLEIW 2.5
v |BEECEaR) 51 (1 E—< 10| [, | BE 2
[ I EE 3| |®  [HS&H 1 (o |BiE 0.7
R L& 4| |v  |BiE 05| (@ [AHYA 1
»n [ TARA 02| [F [2L&>S 005 | |LE® 0.5
IF Yo LS 02 g
INIYEE 251 |7 [2RE—=Y—R 8| Y 43 ®] 206
*;Jlg (E) Y TLAR 5| | [mmEa® 1| |
BEf 2.5 (m)hL—# 05 TARD 12
/‘JJ:\ % AW =L;-)) 1.8 E|' i hACA WEES5HY 15
s |BiE 01l |5 |EXAY 0| | [EES5 EEpE 20
£ b;ﬁg) = 15] | %rjju 15| v ﬁij::;w;m P 2
1) WYBHIFE 500g 1 [k AS 5 o WyYHaZ 1
z BEE 2| &[S 0.7
F [CREBIF hyb 15 Y55 05| |[# [L&3W 25
B |oEsalzedin—2) 20 EOEH fxyA 2| [+ |EDEE(RXHE) 1.2
5} TASL 10 E(EEkE) 0.5 EHYA 0.4
A |CIFS FEAE 20 F—EVREEHA) 1.2 7K 10
AS 5 T—EURH#) 1.2
O theERs 5 I Hvk 20
L F#H)oLE 2 GCER I v 70 HiET 7
f;; +5 4 3 i FoRY 30
o LEID 26 HiaE 3
g’) AH#YA 0.5 h#HZ 6
= |BECERE 1.4 HHE 3
ok 20 ELETL 3
K 110




